EAGRAROBREERT — 2 N— ABISH —F

20214537190 (£) 12mAAHE5H

BN > 5DIGITALE B1= v5%#&

‘ [R1%] & ‘ [REBE] — | & (&) 17000 B

[A&4] 1 7% :3,000,000 @ 23 :1,200,000 @ 33 :750,000 4 3% :450,000 @ .~ 5 7 :300,000 M
WmEBR MK ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
X TTRTA > 6 ?g*gﬁﬂli 1:48.7 8-8-7-5 [39.3| — 1| 501 E§$§ (ha48)
RFLTNANAN BALRT 7L 29T ' =) 2 Bavy—o
TSRS 227 sﬂ;E?)IEi 1:49.0 5-5-6-7 |39.7| — 2 486 Eﬁk%‘iéﬂﬁﬁ) rx
. 11/2 » AL — K-
SLFRLTHANAN B MLTIR—TF ( ) (-6) () #Ba-—RL—>a>@ET7
= o7 | BEE 1:49.0 9-9-8-8 [39.3| — 9 464 | NIBE— (#518)
N FIHA b 253.0 (7 ¢) (5 | BB AT
L:hxExFY BUTIYaLlL—b e =k
S RNAL4— # 5 fslﬂzéat-i 1:49.0 11-11-10-10{ 38.7 | — | 11 | 440 %ﬁsilj(l}llﬁ)/] IR
. ’ NF _ B v R T 4
RixAavR—-5— B: 70N 82— ") -4 (=2 B1% 3¢ ]
3 . 4 8 | AIRER 1:49.4 12-12-12-11/38.6 | — 12 472 | BHEBEB (B18)
E—21v7 5.0 > o |TEEE
LY ZRa—3Z224— BHAAVYECRXT b AV AN
22T 4 4 4 g%a(a);% 1:49.5 4-4-5-6 | 40.2| — 3 560 iE)EEZTR(ﬂ;}%)
0 3/4 4
QIRRT NS F— BTy TIAIT @ SRR~ S
Fw JINF 4 4 gﬂglﬁ?ﬁ 1:49.6 1=1-1-1 | 41.0| — 4 469 %;E% €]
- (172 _ =
Q:RIY—E—O— B:HYULIE ) 19 148554
8l5lg| 7Y —I> "6 ?X;B[H)ﬁz— 1(:;/%8 Coas |08 - s (4_494) ﬂi\%ﬁ*;uo(;fiu)Rac ingHD (#
R:27)—>e—A—- B:I95971—N—F B4z |
ol 11 NG ==k > 6 zigfﬂﬁi 1:49.9 7-7-9-9 | 40.2| — 10 | 506 Elalalggg (#a1E)
. 172 £ AR
QT YIS BN hFAFA (72 ) Hasy—n
1w 2| Z7V—2% o T | (1:49.9) 3-3-3-4 [40.9| — | 7 | 458 %Ei;”éi; (ﬂ;ﬁf)
. Tav = b
LBATATv— B:IJ1—aT7ErT1—F ’ -14) () #A—-KL—va>AET7 7
15| 7| 7= bL—TF b o4 57%’%&: (12510/24> 2-2-2-2 |41.6| — 5 | 448 %géiéﬂgﬁ%)wwﬁ_\
Q:oa7% BiALTLLaRb W) Ty 5, 0
121 7]12| T=—2Fv 7 X H o7 ?ﬁoiﬁ 1:50.6 13-13-11-12| 40.1 | — 6 479 Egﬂlg% (#3148)
- o (3/4) =
RATIETAT BFY— hLY—F O | Ty gaa—KL—varaxTe
13lzlg 717« =% b 6 SVEE%*IJE’& 1:51.9 10-10-13-13/ 40.9 | — | 13 | 493 Iﬁég)—ﬁé;@%g
. 6 _
LAZ—kE1-% BiUL—LKY1X © S PNy
- ey _ _ _ | _ — — | NNBE— (#48)
814 SV7T ) () o |
R:F4—FTTVI T B:FvFvU—J BREB 45
® 1 —F—@EBIERL
1T=7r= 9,7,2,10,4,8,1,5,6,11,13,3,12
23— — 9,7,2,10,4,8,1,5,6,11,13,3,12
ga=7r= 9,7,2,8,10,4,5,6,1,13,12,3, 11
43—+ — 9,7,8,2,5,10,4,6,1,13,3,12,11
[ N5
B 5 340M 714K 4-5 300M e E 3-4 740 JEE 4-5-6 5,600
B B 5 120 5-6 1,080 e B 4-3 1,590 3B 5-4-6 21,340
4 170M 4-6 1,590 B & 4-5 840M
6 480/ B E 5-4 1,970M

ARICOVWTRDTEEERROODE. TR LI,




